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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
lai 11886 0.6 0.9 2 27.7 94.5
1aii 12061 1.2 0.8 2 62.2 95.9
1b 11817 0.9 0.9 2 42.6 94
1c 11741 2.6 1.7 5 51.3 93.4
2a 12267 2.1 1.9 5 41.7 97.5
2b 12426 2 1 3 67.7 98.8
3ai 12556 0.8 0.4 1 81 99.8
3aii 12519 0.7 0.5 1 70.2 99.5
3b 12387 0.6 0.8 2 30.5 98.5
4a 12530 1.6 0.7 2 80.7 99.6
4b 12327 1.2 0.9 3 39.1 98
Sai 12280 0.8 0.4 1 75.5 97.7
Saii 12197 0.6 0.5 1 57.4 97
Saiii 12140 0.7 0.8 2 34.5 96.5
Sbi 12349 0.4 0.5 1 44.2 98.2
Shii 12303 0.2 0.4 1 24 97.8
6ai 12532 0.4 0.5 1 37.7 99.7
6aii 12519 0.7 0.4 1 73.3 99.5
6aiii 12189 1.6 1.5 4 39.4 96.9
6b 12445 0.6 0.5 1 55.6 99
6¢ 11718 0.3 0.7 3 8.7 93.2
7ai 12041 0.6 0.9 2 30.8 95.8
7aii 11273 0.6 0.5 1 58.5 89.6
7b 10401 0.5 0.9 2 24.6 82.7
7c 11087 1.5 1.3 3 48.8 88.2
8a 11887 3.1 2.5 7 44.1 94.5
8b 11468 1 1.3 4 24.7 91.2
9ai 11605 1.8 1.4 3 60.7 92.3
9aii 10202 1 1.4 3 32.3 81.1
9b 11413 0.9 0.9 3 29.9 90.8
10ai 12357 0.9 0.2 1 93.6 98.3

10aii 12325 0.3 0.4 1 27 98
10aiii 10853 0.2 0.4 1 16.3 86.3
10bi 11248 0.7 0.9 2 35.4 89.4
10bii 11984 0.3 0.5 1 29 95.3
10biii 10123 0.3 0.7 2 16.1 80.5
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(i) The internal measurements of a tin of baked beans are:
* radius 3-6¢cm,
+ height 9-3cm. q4.%

Calculate the internal volume of the tin. 2]




The area of the base has been calcualted.
To calculate the volume this needs multiplying by the height.

M0 A0 is awarded.�










16.

(a) Sketch the curve y = sin.x on the axes below.
You must indicate any important values on the y-axis.

(2]




y = -sinx seen often. M0A0.
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7. (a (i) The internal measurements of a tin of baked beans are: h"‘
¢ radius 3-6cm, § =
* height 9-3cm. S—
S=—
L %,
Calculate the internal volume of the tin. 2]
(i) Every 1cm?3 of baked beans in a tin has a mass of 1g.
A portion of baked beans is % a tin.
What is the mass of a portion of baked beans? [1]
A portion of baked beans hasamassof ... g
(b) A mathematically similar tin of baked beans has a radius of 4-2cm.
-
- > S
e = %
§= — N —
= S =
— S =
NS — —
Diagram not drawn to scale
Calculate the height of the larger tin of beans. 2]

14

© WJEC CBAC Ltd. (3310U40-1)

Examiner
only











Question 8a
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Calculate how much sre shou'd budget each menth so trat she is able tc pay her next
el=ctricity bill. 71
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8(a) (Number of units is) 800
(Electricity cost is) 800 x 0.23 or 800 x 23

(£)184 or 18400(p)

(Standing charge + electricity) (£) 208 or 20800(p)

(Total bill including VAT at 5%)
1.05 x 208 or 1.05 x 20800 or equivalent

(£)218.4(0) or 21840(p)

(Budget per month £218.40 + 3 =)
(£)72.8(0) or 7280(p)

B1

M1

A1

B1

M1

A1

B1

FT ‘their 20950 — 20150’, must be from attempting
this subtraction

If units are given they must be correct

Accept £184.00p, do not accept £184p

FT 24 + ‘their 184’ provided units are consistent
May be implied or embedded in further work, e.g. if
184 x 1.05 + 24 seen and calculated correctly to
(£)217.2(0)

FT ‘their (£)208’ or ‘their 20800(p)’, including if the
standing charge is omitted (i.e. (£)184 used)

Allow if standing charge is added after adding VAT to
the electricity cost

CAO

FT ‘their total bill' + 3 provided at least 2 marks
previously awarded

Allow rounded up to the nearest £

On FT allow rounding to 10p, or rounding up to the
nearest £

(Note: FT answers from
e one month standing charge
(£)201.6(0))+ 3 = (£)67.2(0)
e standing charge omitted
(£)193.2(0))+ 3 =(£)64.4(0))

8(a) Alternative method:
(Number of units is) 800
(Electricity cost is) 800 x 0.23 or 800 x 23

(£)184 or 18400(p)

(Budget before VAT 184+3 + 24+3 =) (£) 69.33(3..)

(Total bill including VAT at 5%)
1.06 x (184 + 3 + 24 + 3) or equivalent

(Budget per month) (£)72.8(0) or 7280(p)

B1

M1

A1

B1

M2

A1

Watch for stages in other orders, check for embedded
equivalent stages

FT ‘their 20950 — 20150°, must be from attempting
this subtraction

If units are given they must be correct

Accept £184.00p, do not accept £184p

FT ‘their 184’+ 8 provided units are consistent
May be implied or embedded in further work, e.qg. if
(184+3)x1.05 + 8 seen and calculated correctly to
(£)72.4(0)

FT ‘their 184+ 3 +24+ 3
M1 for either of the following:
o 1.05 % ‘their 184 + 3’
(no standing charge included)
o 1.05x% their 184+ 3 + 8
(no VAT on standing charge)
FT from M2 or M1
Allow rounded up to the nearest £
On FT allow rounding to 10p, or rounding up to the
nearest £

© WJEC CBAC Ltd.











Question 8a

Lonerer eadang .= R0ASC kWh = A0S0 kwWia .

[
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A fully correct response.

B1 M1 A1 B1 M1 A1 B1 is awarded.�










204 1%L~ DO
203 x 1:09= 312183 LO




Fully correct to find the 3 months.
The last stage is omitted, the monthly budget?

£218.40 should now be divided by 3.

B1 M1 A1 B1 M1 A1 B0 is awarded.�










Calculate how much sre shou'd budget each menth so trat she is able tc pay her next
el=ctricity bill. 71

L A0Is0RWH . fO0MWA. d.;.(-pemnu
IOQSOK,wH
L 0X023 = ,é\sq S%- 810 183132

,éhgdlo zu mensle.




The cost of the correct number of units is calculated correctly

B1 M1 A1�



VAT on the cost of the electricity is added on.

5% of the cost of electricity is calculated as VAT, but not added on to £184.
This standing charge should be £24, as it is £8 per month.  VAT has not been considered on the £8.
�



No further marks are awarded.
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8. (a) On 1stJune, Delyth budgets for her next electricity bill.
This bill will be for the months of June, July and August.
Her bill will have to be paid at the beginning of September.

She knows:

the standing charge is £8 per month,

her meter reading on 1st June is 20 150 kWh,

her estimate for her meter reading on 31st August is 20950 kWh,

her agreement states that electricity costs 23p per kWh,

VAT at 5% is payable on the total of the standing charge and the cost of the electricity
used.

Calculate how much she should budget each month so that she is able to pay her next
electricity bill. [7]

16
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Question 9ai

(i) Calculate the length of Support 1.

Support 1

3]

-——
0:9m
Diagram not drawn to scale

%u.f?oﬁ 1= 1:5m











e

(i) Calculate the length of Support 1. [3)

Support 1
11m

-
0-9m
Diagram not drawn to scale











NS T 5T -axkx = N i
g

















9(a)(i)
(Support12 =) 0.92 + 1.12
Support12 = 2.02 or (Support1 =) ¥2.02

(Support 1 =) 1.4(2... m)

M1
A1

A1

Scale drawings are not accepted

Do not accept rounded to 2, unless final answer is
1.42(1... m)**

FT from M1 for the correctly evaluated square root of
‘their 2.02’ provided ‘their answer’ > 1.1 (m)

**Note, award as follows:

(Support1? =) 0.9? + 1.12 M1
Support1? = 2 or (Support1 =) \2 A0
(Support 1 =) 1.4(1...m) A1FT
(Support1? =) 0.92 + 1.12 M1
Support1? = 2 or (Support1 =) \2 Allow A1 if ...

(Support 1 =) 1.42(... m) A1TFT

NP~ B84 4% & 0 a1 I—rn











Question 9ai

(i) Calculate the length of Support 1.

Support 1

3]

-——
0:9m
p— Diagram not drawn to scale

h'l ;M”O"qz 5 “_LA..... :

W= vrm =155

%u.fcm— 1= 1:5m




Pythagoras’ theorem is correctly applied.

M1�



A addition error is made, so A0 is awrded.



The error is followed through correclty, so the final A1 mark is awarded.










e

(i) Calculate the length of Support 1. ‘ [3)

Support 1
11m

-
0-9m
Diagram not drawn to scale




Although notation is incorrect, this is a correct answer.

M1  A1  A1  is awarded.�










NS T 5T -axkx = N i
g




Not equating the quadratic equation to zero before employing the quadratic formula.
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9. MrJakob notices a crack in a vertical wall which stands on horizontal
ground.

(@) Mr Jakob fixes two temporary supports against the wall, as
shown in the diagram below.

/ Wall

0-8m
Support 2
Support 1
1-1m
-
0-9m
Diagram not drawn to scale
(i) Calculate the length of Support 1. [3]
Support 1
1-1m

-
0-9m
Diagram not drawn to scale

18
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Calculate the volume of the larger solid. [4]

47{»& JFVOF =

U7, x (4.23%04° ) = 3567 .49 m®











Calculate the volume of the larger solid. [4]

.......... CBR i REgvaZR2y

e DT O e g RO TEE RN BB & R
Q222659974462 03 506 522787
L= lag oY e T70 21270585,

B B LR B OBESNCEDERANTERZ 248 6.











Calculate the volume of the larger solid. [4]

L7

BB T o S S S

















20. Volume scale factor:

(,/199/47)3 (=8.712...) OR (,/47/199)3 (=0.114...)

or equivalent.

3
Volume of larger solid 350 X (,/199/47)

OR 350 + (,/47/199)3

or equivalent.

3049(.305...cm3)

B2

M1

A1

May be seen in parts.
Award B1 for a linear scale factor:

J(199/47) (= 2.057...) OR \/(47/199) (= 0.485...)

or equivalent OR
Award B1 for (199/47)3 (= 75.904...) OR
(47/199)% (= 0.013...).

CAO. Not from premature approximation.











Calculate the volume of the larger solid. [4]

47{»& JFVOF =

U7, x (4.23%04° ) = 3567 .49 m®




B1M0A0.
Awarded because the candidate has explicitly cubed their linear scale factor.










Calculate the volume of the larger solid. [4]

.......... CBR i REgvaZR2y

e DT O e g RO TEE RN BB & R
Q222659974462 03 506 522787
L= lag oY e T70 21270585,

B B LR B OBESNCEDERANTERZ 248 6.




Candidate has used a calculator which displays calculations to many decimal places.  This was seen on numerous occasions.










Calculate the volume of the larger solid. [4]

L7

BB T o S S S




B2M1A0.
Severe premature approximation but method is correct.
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20. Two similar solids have base areas of 47 cm? and 199cm?, as shown below.
The volume of the smaller solid is 350 cm?3.

Diagram not drawn to scale

Calculate the volume of the larger solid. [4]

END OF PAPER

20
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Question 2a

Farbtan. WMM@MS% ke

iy SO SwefM _______________ oare. G Op per kg . fo ..




Linda












sy g veoesssesazge

CO\ffO(/s F}om Superm

°?"7f L{— SOr

L 5@ 5—['0

. L.IDO‘?_:&/&'&,? TR

1000: 1 3p
J

four_maut ok d S 82 ifpmence















@Q‘SM'Q‘SO 47 z2%¢

- = ——

L*BO 7:2« 400 (4‘3-73 \OOQ 39.. e,
3 7.’(-x2 59 5?9 t}o 2.85
L9924 50¢ (50 K- q
13e39: 3¢ Tass=26¢sp
Dol =69
&g = (99
..... Ce+Slg T €op
Ikg: Gog has beether Vol .

\\O(S(OLM

and._ U hS
J
















2(a)

Method to compare, e.g.
o (Per kg price in SuperM) 1000 x 27 + 450
e (19 cost of each, SuperM and FairMart)
27 + 450 and 57 + 1000
e (g per penny for SuperM and FairMart)
450 + 27 and 1000 + 57
(450g at Fairmart) 57 x 450 + 1000
(SuperM) 11 x 450(g) with 11x 27(p) AND
(Fairmart) 5 x 1000(g) with 5 x 57(p)

Accurate comparison calculation, e.g.
o (Per kg price in SuperM) 60(p)
e (1g cost of each, SuperM and FairMart)
0.06(p) and 0.057(p)

e (g per penny for SuperM and FairMart)

16.6(66... g per penny and 17.5(4... g per penny)
e (450g at Fairmart) 25.65 (p) (< 27p)
e (SuperM) 4950(qg) for (£)2.97 AND

(Fairmart) 5000(g) for (£)2.85

Conclusion, e.g.
‘(Buying carrots from) FairMart (is better value for
money.)’

Organisation and communication

Writing

M1

A1

E1

0ocC1

W1

Ignore incorrect units or lack of units for M, A and E
marks

Needs to show comparing like quantity with like,
unless considering larger quantities where working
shows a greater quantity for less money at Fairmart
(e.g. 4950g with 50009)

In cost per kg in SuperM, allow truncation of

(1000 + 450 =) 2.222.... to 1 or more decimal places
to give 59.4, 59.94, 59.994, etc when x 27(p)
Accept comparison given in pence

19 50g 4509 1kg 9kg |
SuperM 0.06 p 3p 27p 60p | £5.40
FairMart 0.057p | 2.85p | 2565p | 57p | £5.13
Per1p Per £1
SuperM 16.66.. g 1666.66..9
FairMart 17.54. g 1754.36..9

FT for ‘their costs’ provided M1 previously awarded

For OC1, candidates will be expected to:

* present their response in a structured way

+ explain to the reader what they are doing at each
step of their response

* lay out their explanations and working in a way that
is clear and logical

* write a conclusion that draws together their results
and explains what their answer means

For W1, candidates will be expected to:

* show all their working

» make few, if any, errors in spelling, punctuation and
grammar

* use correct mathematical form in their working

* use appropriate terminology, units, etc.











Question 2a




The working is shown, although the cost per kg is not labelled as such.

OC1 and W1 is awarded, but to improve, an extra label would have made this clear.�



Linda












o rttems wet sy s g rroaees Bl

Comr, 0B, fona Supext ... Cadot fom. foichact. .
L > kS 30550
. L.lOOj.Z.k/é.’éﬁ boj L

6‘”( mout. ok AUSC Soa.. S8




This is g per 1p.
Unit is incorrect�



No like with like comparison here so
M0, A0, E0 is awarded.�



At Fairmart carrots are 57p for 1 kg, not 450g



The work is organised, working shown and labelled, with the ‘=‘ meaning ‘the same as’ or ‘for’ or ‘costs’.
Unit error seen.

OC1
W0�














Q»Q(SM'-Q‘SOS:ZR—Q C&q_ Mack = \kq 5t
“503%7« 1.900¢ QY:P:.) \099 180=50
QOog =1t %2295, 57032022 ‘55
U959 :4=504 (50" - ‘( .
T3] Tx285=25¢s0
'3)9\42 6%
6e° (096\
..... Q*SL\(’ €oe
lkq: Coe as betbesvalae oo

\\o%mm and_9u h5 J




In order to compare ‘like with like’ the candidate realises they need to calculate the cost of an additional 100g of carrots, as 900g can not be compared directly with 1 kg.

This is calculated correctly�



1kg for 57p at Fairmart can be compared now with 1 kg at SuperM







Linda

A correct conclusion.

Full marks for the mathematics are awarded.�



It is unclear at times what the candidate is calculating, as lables are not used.
Hence OC0

But W1 is awarded�



A correct conclusion.
















2. (a) In this part of the question, you will be assessed on the quality of your organisation,
communication and accuracy in writing.

Edmund needs carrots to make soup.
His two local supermarkets are SuperM and FairMart.

4509 of carrots cost 27p in SuperM. <f \ \f:j{
The same variety of carrots cost 57p per kg in FairMart. —‘*"‘“_ ,"‘:iw MM N
Edmund wants to buy carrots that are the best value for money. ‘

Should he buy carrots from SuperM or from FairMart?

Give a reason for your answer.

You must show all your working. [3+20CW]

06
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(a) Bryn returns his hired ice skates after 3 hours 38 minutes.
How much will the total charge be for hiring these ice skates? 2]

B hooes =€ 10YS .
AT W MRl K (| B9 SR —











(a) Bryn returns his hired ice skates after 3 hours 38 minutes.
How much will the total charge be for hiring these ice skates? [2]

................ 2H 28Mmin. = £3.AS+fF.20 = £10-45. .











(a) Bryn returns his hired ice skates after 3 hours 38 minutes.
How much will the total charge be for hiring these ice skates?

23:25. Por SkoreS. ...

o 0 Y o . W éclbo ...........................................................




Linda


















4(a) 3.25 + 4x 2.4(0)

(=) (£)12.85

M1
A1

If no marks, award SC1 for an answer of any of the

following:
Answer From
(£)10.45 3.25 + 3x2.40

(£)11.97 (not for (£)11.96)

3.25 + 3(38/60) x 2.40

(£)17.4(0)

3.25+4 x 240 and
incorrect BIDMAS

(£)22.6(0)

3.25+2.40 x4 and
incorrect BIDMAS











(a) Bryn returns his hired ice skates after 3 hours 38 minutes.
How much will the total charge be for hiring these ice skates? 2]

B hooes =€ 10YS .
AT W MRl K (| B9 SR —




Bryn has to pay for 4 hours, part hours are charged as 1 hour.

4 x £2.40  + £3.25


M0, A0�










(a) Bryn returns his hired ice skates after 3 hours 38 minutes.
How much will the total charge be for hiring these ice skates? [2]

................ 2H 28Mmin. = £3.AS+fF.20 = £10-45. .




The candidate has only charged for 3 hours hire, but 4 hours should have been charged.

However, the candidate is awarded SC1 for there correctly evaluated solution for 3 hours.�










(a) Bryn returns his hired ice skates after 3 hours 38 minutes.
How much will the total charge be for hiring these ice skates?

23:25. Por SkoreS. ...

o 0 Y o . W éclbo ...........................................................




A correct response.

M1  A1�
















Ice skate hire charges

Hire any pair of ice skates for £3.25
PLUS
£2.40 for every hour or part of an hour hired*

*any minute or more into the next hour is
charged as 1 hour

(@) Bryn returns his hired ice skates after 3 hours 38 minutes.
How much will the total charge be for hiring these ice skates? 2]

(b) Beth pays £8.05 to hire ice skates.
What is the minimum whole number of minutes that she could have hired the ice skates
for before returning them? [3]

09
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Question 5aiii

Question:











Question:

R Y NSO o O o SOOI (SR R Pt <2l o o W ) R 3 S

(o NNy Vs, G OO s OO, oo YL O 0 W ol X o LSOO 2 WSy

Bl AR e T oo N A oo e s

A. YdPh N Dol wenadh L oAl e - 7 howars.
€, R} vours DA










(b) Factorise 7t* + 197 - 6. ; 2]

















5(a)(iii) Appropriate question and at least 3 suitable
categories with no gaps or overlaps, e.g.

‘under 20 minutes, 20 minutes to one hour, more than
one hour’,

‘1 hour or less, more than 1 hour but less than 2
hours, 2 hours or more’

B2

Ignore gaps in continuous data provided not greater
than 1 minute

Allow 2 suitable groups with the third group as ‘more’
or similar

Accept if options do not start at zero, provided the
first option starts below 31 minutes

Provided an appropriate question is given:
Working in minutes allow:
e B2for0-30,31-40,41-50
e B1for0-230,30-50,50-70
Working in hours allow B1 for any of the following
e 0-1,1-2,2-3
e 0-1,2-3,4-5

Award B1, if the B2 criteria would be met apart from

having any one of the following errors:

o First option starts between 31 minutes and 1 hour
as lower bound,

e There is a missing or inappropriate question

e Poor or incorrect use of inequalities is seen

/L \N/Z'\ A 7O/ \\

1NO NA AN











Question 5aiii

Question:




Big gaps of times missing, e.g. 2 .5 hours?

B1 is awarded.�










Question:

(o NNy Vs, G OO s OO, oo YL O 0 W ol X o LSOO 2 WSy

Bl AR e T oo N A oo e s

A. ¥dph N\ DowS wwadd  Loaaniade - 7 hoewars.
€, R} vours DA



Linda

Going well until ‘e.’  The gap between the last two groups is too much.  Shame as until then the candidate was answering well.

This response is awarded B1, due to the gap in time after 2 hours and before 3 hours.�



Going well until ‘e.’  The gap between the last two groups is too much.  Shame as until then the candidate was answering well.

This response is awarded B2�










(b) Factorise 7t* + 197 - 6. ; 2]




Correctly factorised but every term has had its sign inverted.
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5. (a) A survey was carried out to find out how often people used the swimming pool in a sports
centre.
The following two questions were asked in a questionnaire.

Q1. How far away from the sports centre do you live?

Q2. How often do you go swimming?

(i) Give one reason why question 1 is a useful question to ask. [1]

(i)  Explain why the answers to question 2 might be difficult to analyse. [1]

(i) A person answers that they go swimming.
Write a question that could be used to find out how long this person spends in the
pool, on average, each time they go swimming.
You must give groups for collecting the data. [2]

Question:

10
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Question 7ai

(a) (i) The internal measurements of a tin of baked beans are:

* radius 3-6¢cm,
* height 9-:3cm.

Calculate the internal volume of the tin.











(@

(i) The internal measurements of a tin of baked beans are:
* radius 3-6¢cm,
+ height 9-3cm. q4.%

Calculate the internal volume of the tin. 2]











16.

(a) Sketch the curve y = sin.x on the axes below.
You must indicate any important values on the y-axis.

(2]

















7(a)(i) (Volume) T x 3.6% x 9.3
Answer in the range 378.4 (cm?®) to 378.7 (cm?®)
378 (cm®) or 379 (cm?)

M1
A1

Mark final answer
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Question 7ai

(a) (i) The internal measurements of a tin of baked beans are:

* radius 3-6¢cm,
* height 9-:3cm.

Calculate the internal volume of the tin.




Incorrect formula for calculating volume.

M0  A0�











